EARAROBREBRT —5 XN—ZXBISH—F

20235108288 (+) dmEAI5H

M C2-3 C2 USZ%—1& \(9&1@1 W ‘[%EH%F&] | 5 13m =

[AE%] 17&:700,00 F  27&:245,000 W  337%&:140,000 .~ 43 :105,000H . 5 7&:70,000

B\RE FRESS /IR HE B5F (F28) FA4L (5% | BBIEML | E3F |[SIEY | AT | #AE | B FIR) / BF / S£ERS
v # 7| KBRS 1:23.8 4-4-3-4 388 - | 1 | 5% |{JHER &D
1|7[10| R T 56.0 ) Oy | xR v
RFVVH/FEF BISYVIARFVT 3aiutie
) 7 | BPET 1:24.5 3-3-4-3 [39.6| — 3 485 | #IBE (F)
1 « DAEZ 2 5.0 a3 9 |8 Ttt—se
R:Medaglia d’0ro B:¥F 1 b YT o TATPAT7— 1
o7 | ZHENED 1:24.8 7-7-5-5 [39.7| - 2 485 | THEHEE) (&)
35/ 6| FIWTUR B 5.0 (1172 w9 | (B Bigws
RibwHoO—U— B:XSYITRI RS Bittis
H = 4 6 | HMEEX 1:24.9 2-2-1-1 | 40.2| - 5 477 | BPEZ (F40)
4|5|5 | YVHARDFUT 56.0 @) n | @ J P N
RIRITIATAvIDrUT7— B:STE—FUy— YHADRS
# o7 | AR 1:25.2 6-68-6 [39.9| - | 7 | 533 |PEmEH (FH)
g 4 7AIA 56.0 (1 1/2) 1 | AHES
KT TRD—ILEY BiAFUaY 75 RS
) = 9 | LtHEE 1:25.2 5-5-7-7 | 40.0| — 4 485 | EEEE (S
618l11/YVa9/D1T5X e 56.0 &e) ) |EBE— -
RPURAT1 TSR B:RIVT4TS A 3h
S o4 | MERA 1:25.4 8-8-6-8 | 40.2| - 6 | 491 |MARESE) (B
d - BIZ=BZedIN 5.0 & (o |TABIE
R:YZAI—ZZ29— B:HUNE—-Y [FElEskes]
9o ANERE :25. -11-9- . - JIFBEH (FH0)
817]9 | O—RYPZ—IL i 4 | A 1(215)6 10-11-9-9 | 39.7 9 (4_637) L
KR:aAN/VvF— BNI/T7F=)b BREMHTY RS YT - T7—L
-5 i 8 | EREE 1:25.6 1-1-2-2 | 40.9| - 8 | 516 |RECHE (B
91111 |ARI—354F+R 54.0 NF) @) | B BBlg
R:AR—KT77)VaY B:IVd-VYrx FEBERS Y R
i (e _ Y 7 | REER 1:26.2  |12-12-10-10/40.2 | — | 11 | 474 |EDEE=E (BH)
100812/ Ay bR/ #55.0 ?) (3) |RRAE
RFIN—T B:RU—LRSYVa =8V T7—I
Sw3 4t 8 | AEBIEER 1:26.2 11-9-12-11 [ 39.8 | - 12 | 57 |#IBE (&)
11PY 2 | ¥ARILSY T3 5.0 F9%) () | LS N
RTFAIWNITFY— B:RARIL—F T EvILyRTI7—L4
N — 4t 5 | FISPER 1:29.7 9-10-11-12 | 43.5 | — 10 | 494 |EAAKE (B
12§f 3| /=vIL—U 4530 (511) o | @ Jr—2kevay
RE—UR B:YALYRYZYT EHHBS

® JI—JF—@BIENI

13—7+— 1.5,7,10,11,4,6.8,3,9,2,12
Adl=5r= 1,5,7,10,11,4,6,8,2,3,9,12
3J0—7— |[5.,1,10.7.6,8,11,4,9,12,3,2
4J0—7— |(5,1,7,10,6,4,11,8,9,12,2,3

@ IRE
& s 10 230 | | 94K 7-10 270 | | # &= 6-7 380M | | 3:=¢& 6-7-10 1,120M
& B 10 110M 6-10 3201 | | 5 &= 7-10 650 | | 3:&E 10-7-6 2,970M
7 160M 6-7 460/ | | BB & 10-7 910M3
6 140H

ABIC OV TRUTEREERRODDZE. THRIIZEL.




